R L
= 29

K

/ /
| l
LA [ O

® cosy

[aa]

® tany

@ tanx

@ COS X

@ sinx



=BC

@ cosC

=DE

@ tan A

BC

AB

@ sinA

@ sinC

= DE

® cosA



che 1 ol WA S Pol7h1 Q) AR

QLN i}

o tiste] /DAB = x, £/ADB =y, /DEC = z
y
gt o, o 5 S 82 A2

@ siny =sinz @ cosy = cosz
@ tanx =tanz @ cosz=BD

® tanx = CE




4. 0°<x<45° 4o, \/(1-tanx)? o 27

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 ® 0



5.

45° < x<90° 4 ], /(1-tanx)? o] g7

@D 1-tanx @ tanx+1
@ 1 ® 0

@ tanx -1



V(cosA—1)2 - /(1 +cosA)? 9] Ff2? (T, 0°<A<90°)

D1 @ 2 ® —cosA

@ cosA ® —2cosA



7.

the 1Yol LABC = 90°, £CAB = 60° ©] 3, AC =

o, tan 15° 9] 27

D V2
@ 2+ 3

D

\\

5

_I

i

;”c

JRCI= P
@ 1+ V2
® 2-+3

® 1+ V3

D

=2

[e))]
=



8.

===
o, ¥ 0 9

@ 2cm

@ 8cm

A
ks

BC =8cm , /B =60° ¥
259 dol&=?

@ 4cm ® 6cm

® 10cm




9.

ths 2™ o] «C =90° <1 A4
ABC o4 AC 9] 2ol g Fah 4129
@ 5sin40° @ 8111540

@ 5tan40° ® 5cos40°

ofl



10.

o2 g3t Zo] gt §e] Zojy
ol HAFHAA A - BCD o4 BC
ZHESET 5, LAED =x ¥
cosx 9 g7

F2
_g}
u

)

©
N
®
W =




g TRe @ wel ol 19l AR
Aol /CFG = x € W, sinx 9 g &




B o=
fife)

o)
oy




13. y = —2cos?x + 4cosx + 5 7F HTZES 7HE o, x 9] 3H22(H,
0°<x<90°)

@® 0° @ 30° @ 45° @ 60° ® 90°



14.

o
ore 2

0= & A2 ghol dia #A| = &7

@ sin 20° < sin 49°

tlo

R =9

@ cos10° < cos47°
@ sin45° = cos45° @ cos60° > tan 30°
® tan?23° < tan73°



15.

29

ohg ol A7) 3k 5 71 e gkt 1 2 ke AAL A
H7]
@ sin45° © cos45° © sin0°
® cos60° @ tan60°

60 ©60 066 ®oe 0606



